Evaluate the following limits,

Your answer should be a number, oo, —c or DNE (only if the first three answers do not apply).
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Using complete sentences and proper mathematical notation, state the formal definition of “local maximum”. SCORE: /3 PTS
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Find the absolute extrema of f(x) = 3%} (x—10) on the interval [—1, 8].

SCORE: _____[7PTS
£ =2¢ T (x-10) + 3x* ey

g el el L 3(066?5":9_1.@

el le . 20UD 0 | o® ¢
If' bre @ x=0O] (D) B O T PR S (T R 5
=0 ® - 4D ¢ | 3= 24,0

ARSOLUTE MaX @ x=0,®
MY @ X:ﬂr.@




Consider the following three cases: SCORE: /9 PTS
AL e
Case 1: f(x):(x—l)%ontheinterva! [-7,9] CoNT ,\oT DIFE £ %’(K'DJ S ]
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[a] Does Rolle’s Theorem apply to any of the three cases ? If no, write “N/A” (no other work required).
If yes, list all cases to which it applies, and list all the conditions of Rolle’s Theorem which are satisfied.
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[b] Does the Extreme Value Theorem apply to any of the three cases ? If no, write “N/A” (no other work required).
If yes, list all cases to which it applies, and list all the conditions of the Extreme Value Theorem which are satisfied.
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[c] Does the Mean Value Theorem apply to any of the three cases ? If no, write “N/A* (no other work required).
If yes, list all cases to which it applies, and for each of those cases, list all the conditions of the Mean Value Theorem
which are satisfied, and find the value of ¢ guaranteed by the Mean Value Theorein.
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